N of reco track vs dxy [N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

1%} F (%] F [%]
%:)s [ * —é F é
=0°F o =10°F £
F <] E Q
F 2 F g
r = ke
10°F 1 £
E E S 3
E E °10
10°F 10°F
10%F 10%F
10F 10F
1 E
o —gfops
. o080001—Gloka
(s T -
LE 0.95f -1+
1 I i iy R | R R - v 51 R A Vo R
—-25-20-15-10-5 0 5 10 15 20 25 O'—25—20—15—10 -5 0 5 10 15 20 25 -25-20-15-10-5 0 5 10 15 20 25 O'—‘25—20—15—10 -5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2 F L 2
g sl g g
£10° = S
ol g
= Si?
10* £
10° 3
10° i A
ik P, SUOUS TR NS SN IO e
2 E E N H H H H
10 i Eooor : :
10k 10ﬁ ----------- fede
1
a " MFETE NS NS AL i
2 . [ ]
T 1 T
o * * ] o
I O - -
| N INE P WW Ll
-10 0 10 20 30 0¥ =20 -10 0 10 20 30 0%55 —20 - 0 0 10 20 30 -30 -20 -10 0 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


